Performance Task - Expressions & Operations Names:
A.2bec Polynomial Farm ' Date: Block:

Directions: Farmer Bob is planting a garden this spring. He wants to plant squash, pumpkins, :
corn, beans, and potatoes. His plan for the field layout in feet is shown in the figure below. Use the
figure and your knowledge of polynomials, perimeter, and area to selve-the following:
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o 1. Write an expression that represents the iength of the south side of the field.
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)} 2. Simplify the polynomial expression that represents the south side of the field.
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3. Write a polynomial expression that represents the perimeter of the pumpkin field.

(5 ¢-2)+ (sx-2@+(sx+a) Hsxed)  or
2(sx-a) + a($x+a)

4. Simplify the polynomial expression that represents the perimeter of the pumpkin field. State
one reason why the perlmeter would be useful to Farmer Bab.
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5. Wriie 2 polynomlal expression that represents the area of the potato field.

(x+e)( x?*-7etm)




6. Simplify the polynomial expression that represents the area of the potato field. State one
reason why the ca!culated area would be useful to Farmer Bob.
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7. Write and mmphfv The polynomial expression that represents the area of the bean field if x =3

and y = 7. What unit wouid the area of Bob’s bean l}el? have? .
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8. The farmer would Tike his bean plants to grow to a height of (x + 3). Write a polynomial
expressmn to find the volume of the bean plants if they reach a height of {x+3).
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9. Simplify the polynomial expression that represents the volume of the bean plants if they reach a

height of (x + 3) feet. n 2
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~ 10. Farmer Bobrwould like to plant three additionalfieids of-produce. &my
calealater, find the dimensions of each fieldgiven the area. R c7oe €924 EXPRESS, ow-

a. The area of the strawberry field is 16x° +4x. J?ZK ( ;&'k; a’-—,:)

b. The area of the cucumber field is X' — 4x — 21, ( % "))CX £ 3‘)
¢c. The area of the tomato field is x* - 36. Ck # é) (?‘: ,_.‘%)

11. Farmer Bob realized he forgot to include a zucchini fleld into his field layout. He plans to use
half the length and half the width of the squash field in order to plant zucchini. Write a
poly omlazx&rejnon that repres%nts the area of the new zucchini field.
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12, SlmpIrFy the polynomial expresswn that represgnts the area of the newly added zucchini field.
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13. Extra Credit: Write and simplify polynomial expressions that represent the per: eterand area
of the cornfield. x -~ (g f _. y +1 —
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